Bid Results

Bidder Details

Vendor NameCT&T Concrete Paving Inc.Address324 S. Diamond Bar Blvd.Diamond Bar, California 91765United StatesRespondeeJose CarvajalRespondee TitlePresidentPhone909-629-8000Emailjose.cttinc@gmail.comVendor TypeCADIR, OSBLicense #875627CADIR1000025154

Bid Detail

Bid FormatElectronicSubmitted08/03/2023 1:52 PM (PDT)Delivery MethodBid ResponsiveBid StatusSubmittedConfirmation #340608

Respondee Comment

Buyer Comment

Attachments

File Title

Fontana SRTS Proposal Documents - CTT.pdf Fontana SRTS Bid Bond - CTT.pdf File Name

Fontana SRTS Proposal Documents - CTT.pdf Fontana SRTS Bid Bond - CTT.pdf File Type Proposal Documents Bid Bond

Subcontractors

Showing 5 Subcontractors

Name & Address	Desc	License Num	CADIR	Amount	Туре
California Professional Engineering, 19062 San Jose Ave La Puente, California 91748	ltems 39-41, 43	793907	1000377609	\$159,235.00	DBE, OSB
Chrisp Company 2280 S. Lilac Ave. Bloomington, California 92316	Signage & Striping	374600	100000306	\$267,515.00	CADIR
Elecnor Belco Electric, Inc . 14320 Albers Way Chino, California 91710	Item 44 - Relocate existing vault, fiber conduit, and cables as needed and directed	738518	1000004804	\$29,000.00	
Granstrom Masonry, Inc. 19530 Normandie Ave Torrance, California 90504	Masonry	629489	1000004794	\$70,722.00	
treesmith enterprises 1551 n miller street anaheim, California 92806	Tree Removals	802705	1000001838	\$47,850.00	OSB, WBE, MBE

Line Items

Discount Terms No Discount

tem # Sectio	Item Code	Туре	·	UOM	QTY	Unit Price	Line Total	Response Comme
	on name r	requir		1.5		A	\$3,615,087.50	
			Mobilization / Demobilization (including During Utility Window)	LS	1		\$416,000.00	Yes
2			Clearing, Grubbing, and Miscellaneous Removals	LS	1	\$75,000.00	\$75,000.00	Yes
}			Temporary Traffic Control (including During Utility Window)	LS	1	\$45,000.00	\$45,000.00	Yes
			Water Pollution Control Best Management Practices	LS	1	\$10,000.00	\$10,000.00	Yes
;			Remove and Dispose Existing Trees, Stump, and Roots to 3ft Below Finish Surface	EA	66	\$833.75	\$55,027.50	Yes
5			Remove Existing and Construct 8" Cross Gutter/Spandrel Over 12" Min. of 95% Compacted Native per City of Fontana Standard Plan No. 403.	SF	5009	\$14.00	\$70,126.00	Yes
'			Remove Existing and Construct 6" Curb Over 12" Min. of 95% Compacted Native per City of Fontana Standard Plan No. 1000.	LF	11	\$80.00	\$880.00	Yes
			Remove Existing and Construct 6" Curb and Gutter Over 12" Min. of 95% Compacted Native per City of Fontana Standard Plan No. 1000.	LF	671	\$60.00	\$40,260.00	Yes
)			Remove Existing And Construct 8" PCC Residential Driveway Over 12" Min. of 95% Compacted Native per City of Fontana Standard Plan No. 1001. Type As Shown Per Plan.	SF	18931	\$14.25	\$269,766.75	Yes
0			Remove Existing And Construct Retaining Curb Over 12" Min. of 95% Compacted Native As Shown On Plans.	LF	308	\$62.00	\$19,096.00	Yes
1			Remove Existing And Construct Curb Ramp Per City Of Fontana Standard Plan No. 1003 Over 12" Min of 95% Compacted Native. Type as Shown per Plan.	EA	21	\$7,250.00	\$152,250.00	Yes
2			Remove Water Fountain Including Electrical.	LS	1	\$4,000.00	\$4,000.00	Yes
3			Remove Existing And Construct 4" PCC Sidewalk Over 12" Min. over 95% Compacted Native per City of Fontana Standard Plan No. 1006.	SF	48195	\$11.00	\$530,145.00	Yes
4			Remove Existing And Construct Curb Ramp Per SPPWC Plan No. 111-5 Over 12" Min. over 95% Compacted Native. Case And Type As Shown Per Plan.	EA	11	\$7,250.00	\$79,750.00	Yes
5			Remove Existing AC Pavement (12" Deep), Construct 12" Thick Full Depth AC Pavement Over 90% Compacted Native, Minimum 4' Wide.	τον	1452	\$275.00	\$399,300.00	Yes
6			Remove Existing and Construct 6.5" Min. AC Pavement Over 12" Min. over 95% Compacted Native Subgrade Per City Std. 401.	TON	213	\$250.00	\$53,250.00	Yes
7			Remove Existing and Construct 4" AC Pavement Over 95% Compacted Native at the Back of Driveway.	TON	102	\$240.00	\$24,480.00	Yes
8			Remove Existing and Construct 4" PCC Over 95% Compacted Native at The Back of Driveway.	SF	16350	\$13.00	\$212,550.00	Yes
9			Grind Existing Pavement With 0.20' AC Min.	SF	3300	\$5.00	\$16,500.00	Yes
0			Overlay Existing Pavement With 0.20' AC Min.	TON	61	\$200.00	\$12,200.00	Yes
1			Relocate Chain Link Fence Per SPPWC Standard Plan No. 600-4.	LF	1163	\$46.00	\$53,498.00	Yes
2			Remove and Reinstall Rolling Gate and Track.	EA	43	\$1,092.50	\$46,977.50	Yes
23			Relocate Existing Fence and Driveway Gate	EA	58	\$1,380.00	\$80,040.00	Yes
24			Remove Existing and Construct Wall Per SPPWC Standard Plan No. 621-3. Material, Finish, Height and Color Shall Match Existing and as Shown On Plans. Relocate Wrought Iron Fence on Top of the Wall.	LF	121	\$550.00	\$66,550.00	Yes
25			Adjust Water Cover to Grade.	EA	117	\$250.00	\$29,250.00	Yes
26			Adjust Fire Hydrant to Grade.	EA	2	\$3,500.00	\$7,000.00	Yes
			Adjust Utility Cover to Grade.	EA				
.7					2	\$2,500.00	\$5,000.00	Yes
8			Remove Existing and Reinstall Mailbox as Shown on Plans.	EA	120	\$450.00	\$54,000.00	Yes
.9			Remove Existing and Construct Mailbox as Shown on Plans.	EA	4	\$1,000.00	\$4,000.00	Yes
0			Remove Existing and Relocate Wrought Iron Fence as Shown on Plans.	LF	319	\$74.75	\$23,845.25	Yes
31			Remove Existing and Install New Chain Link Fence per SPPWC Standard Plan No. 600-4.	LF	573	\$69.00	\$39,537.00	Yes
32			Remove Existing and Construct Wall per SPPWC Standard Plan No. 601-5. Material, Finish, Height and Color Shall Match Existing and as Shown on Plans.	LF	100	\$475.00	\$47,500.00	Yes
3			Relocate Utility Box, Meter, and Irrigation Valve	EA	12	\$1,250.00	\$15,000.00	Yes
34			Restore Landscaping and Irrigation in Kind Remove All Existing Conditions and Construct 8" Curb Over 12" Min. of 95% Compacted Native per City of Fontana Standard Plan No.	LS	1	\$65,000.00	\$65,000.00	Yes
35			1000. Remove All Existing Conditions and Construct 8" Curb and Gutter Over 12" Min. of 95% Compacted Native per City of Fontana	LF	330	\$75.00	\$24,750.00	Yes
36 37			Standard Plan No. 1000. Remove All Existing Conditions and Construct Cobble Rock in Kind.	LF SF	305 22	\$78.00 \$98.00	\$23,790.00 \$2,156.00	Yes
8			Install Utility Box and Cover (Allowance)	EA	100	\$175.00	\$17,500.00	Yes
19			Traffic Signal - RRFB Including Electrical (Oleander Ave and Sequoia Ave) per Street Lighting Plans and Southern California Edison Drawing No. 1624548_0.01		1	\$43,700.00	\$43,700.00	Yes
ŀO			Traffic Signal - RRFB Including Electrical (Mallory Dr and Skyland Ct) per Street Lighting Plans and Southern California Edison Drawing NO. 1624757_0.01	LS	1	\$43,700.00	\$43,700.00	Yes
1			Street Lighting Installation per Construction Street Lighting Plans and Southern California Edison Drawing No. 1625045_01.01	LS	1	\$70,725.00	\$70,725.00	Yes
2			Signing and Striping as shown on the Plans	LS	1	\$307,642.25		Yes
			Install Traffic Signal Loops per Caltrans Standard Plans and Traffic Signal Detection Plans	EA	63	\$307,642.25	\$24,995.25	Yes
3			האלומה רואותי סוקותו בססףס פרו סמונומוס סנמועמוע רומוס מוע דומותי סוקומו טכנללנוטון Plais	LA	00	9390.75	¥24,770.20	103

Line Item Subtotals

Section Title	Line Total		
Section name required	\$3,615,087.50		
Grand Total	\$3,615,087.50		